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2. Find the domain of the function.

ﬁ. f(x) = 4/2x- 10

The domain is . (Type your answer in interval notation.)

Answer: [5,00)
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g 3. For the given functions f and g, complete parts (a) (h). For parts (a)-(d), also find the domain.

o
f(x)=2x+9; g(x)=9x-4 ( ’) fr s , :
a) Find (f+ g)(x). . | = oA
(@) Find (F+g)() (()X_,q)’f—[ﬁ“x %) - Uaymﬁ.x/
(f+a)(x)= (Simplify your answer.) _ ot G : = — [ ”':"_, s :
TET | TET ( / £
What is the domain of f + g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice. o *’3 n
(/1 X s Y s
C) A. The domain is {x| }.
(Use integers or fractions for any numbers in t/e expression. Use a comma to separate
answers as needed.) —_— i =
( Ve

(O B. The domain is {xl X is any real number}.

fx] — I ) -
ﬁ(b)Find(f—g)(x}. gvf,( ("'_‘ )*“‘/’7)\/ ‘?r) =

(f-g)x)= (Simplify your answer) 7 < —G X Y

What is the domain of f - g? Select the correct choice below and, if necessary, fill in the answer box to corr complete your

choice. (\ =7 X i3 = .?“_'-’
O A. The domain is {x| 3.
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) /{ )(] - ]
B. o . e
O The domain is {x[ X is any real number}. {5/) 7 (/) - o6 5 : X
(¢) Find (f+ g)(x) Gy — c/) - L >, ( X ,.) \]
' ( Z ¥+ i)/ 4

(feg)x)= (Simplify your answer) /¥y = A —+ 7/ X _.—-jé =
What is the domain of f - g? Select the correct choice below and, if neoessary. fill.in. tne answer box to complete your choice.

~ = o
A. The domain is {x } (/ /"/ /_/‘) \/ =y

(Use integers or fractions for any numbers in the expression. Use a comma to separate

(’j ) rFla 1

answers as needed.)
B . . % . A G =
- The domainis {x| X is any real number}. (_—— )/¥7 » o S sl
’ 3 Rl A
' v et Sed it

f = P =
(d) Find (—J (). . aX =Y
; /9 - FA e
[iJ (x)= (Simplify your answer.) —j( (K) ’H f ﬁ
g = : -"" "? x f j -~ h L/‘.//:/

)< =/
L‘Zt‘* - =7

What is the domain of 5'7 Select the correct choice below and, if necessary, fill in the answer box to complete your choice,

Fradpg = 11Xt Kﬁ/ ku»m',,/

A. The domain is {x o ,w_m;} // / (} /{ (3) 7 y ——

(Use integers or fractions for any numb rs in the expression. Use a comma to separate

answers as needed.) ( & ,f_’ ) _5} 1’?3

B. The domain is {x| x is any real f}l-"’ﬂb i, (‘f//
—fjj [5) 37 J

(e) Find (f+ g)(3).
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(f+a)3)= (Type an integer or a simplified fraction.) (7{_74’/"? S C A
—gF o (F=9) (&)= —1/2)H3

(f-9)(2)= (Type an integer or a simplified fraction.) (/ j/( 2) = '/74 f/f/
LT C (FY= e P

(f-9)(4) = (Type an integer or a simplified fraction.) /)) /a?)( +7))( "’36
(h)Find(éJ(u ///(cf) /0’/?‘) ,(,7](}‘/ 56
f (#<5)(0) = ff(?)/¢/+7i(¢/ 56
[E] (1= (Type an integer orasmpt/ed fraction.) (/6 a2 /‘-// 26
/j/ﬁ/ 2ff+ 292~
J/m Sy DT

Answers 11x+5

B. The domain is {x| x is any real number}.

-7x+13 —
7/’ d X '7
B. The domain is {x[ X is any real number}. ( )/4
18x% + 73x - 36 )) rf’ j
B. The domain is {x| X is any real number}. /)(// q{) ) /
2x+9 .~ q
9x X/ 2/ T
: )/ )=
A. The domain is {x| x#g (_}
(Use integers or fractions for any numbers in the express:on f M ate answe ,is/needed.)
38 ) — { [
- 1 - :
544 X s
11
5
4. x + h) — f(x
Find the difference quotient of f; ttiat is, find M , h# 0, for the following function. Be sure to simplify.

fx)=x° - 2x +6

@/um—z ,(m)q#J'{/ L XA6) =

e 2/(#2;,’/-6 s 7 Sl N~

foxrh)=f0) _ /osrs )/

A | 17—
Answer: 2x + h - 2{1'-[’/4’1',/['\—(/’) Fd)(PZAFT(, W/ _‘L )( i
e /’) o
TR S vy
},’ 3(’7 ﬁ /1] ¥___~—-"
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5.

Determine whether the graph is that of a function by using
the vertical-line test. If it is, use the graph to find = 2;"5“’((‘} < ] : } )
(a) its domain and range. <‘S / ) < [ ]
(b) the intercepts, if any. . (-5.5) (5.5) z

. " . (—[ o] I—-T-—-—-)l
(c) aqy_symmetry with respect to the x-axis, y-axis, or the 35 o _t‘ . 25

origin. ‘0 0) ] (/U )
Q / 20- /%)
]
Is the graph that of a function?
@ Yes—

No

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill in

any answer boxes within your choice. (/ / 1) ¥ 1).(/ ) 3
— =
( // C j P("Jd 7(!”’"'/ /(-’/'}j
_9 A. T][é domaln is < / <) Thegange is ('— < -
ype your answers in interval notat
B. The graph |s not a function.

What are th?’f\tercepts? Sel cl the correct chonce f;eiow a/n?d fill in any answer boxes within your choice.
2 P\ ¢ i)/ ; ?,__/h//(.',w/) 7
A. /~=-(‘ O) (/C ') (( .
(Tgpe an ordered pair. Use a comma to separate answers as needed.)
B. There are no intercepts.

C. The graph is not a function.

Determine if the graph is symmetrical.

A. Itis symmetrical with respect to the origin.

(\"' f B. Itis symmetrical with respect to the y-axis. ) )}

©. Ttis symmetrical with respect to the x-axis.
D. The graph is not symmetrical.
E

. The graph is not a function.

Answers Yes

A.Thedomainis (-o0,00) .Therangeis: (=-o0,5] .(Type your answers in interval notation.)

A. (10,0),(-10,0),(0,5) (Type an ordered pair. Use a comma to separate answers as needed.)

B. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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6. Using the given graph of the function f, find the following.
(a) the intercepts, if any
(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant
(d) whether it is even, odd, or neither

etk

v ’ X'f '” \/)//V'
(a) Whatare th intercep/ts? )
% —_— ' g
(I“‘/g / C//()) /0/ / Haw\’)“’)(' lS d”
(Simplify your answer, Type an ordered pair. Use a comma to separate answers as nSEded ) A R 2 ’3 ¢ ar

_’ (b) Thed ornamts 1 ! l é [/"/[ risAt _& gc';‘“/o{v ”U __f ¥
(Type yo Fanswerm interval notation.) / /) / (’ﬁ y j Q(\V‘)]<‘_ _r e Q ._:“

=3 M0, F] £ [ o oy ( onsiveeke )

(Type your answer in intefval no!glion,) —_—

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

O A. The graph i@;e;?:é on [' | C)_,( [// gj

(Type your answer in interval notatlon Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct chaice below and fill in any answer boxes within your
choice.

[~3,- /j o, 1]
A. The graph lﬁi;:reasmg on
(Type your answerin interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on
_ (Type your answer ir in mterval notation. Use a comma to separate answers as needed.)

( n""’B. The graph is not constant on any interval. \ E
—

= — e
(d) The function is (1)

" T ——
C (1) = even. _
e
' neither odd nor even.
odd.

50f26 11/26/2019, 12:28 PM
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Answers (- 1,0),(1,0),(0,1)
[-3.3]
[0,3]

A. The graph is increasingon [-1,0],[1,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasingon [-3,-1],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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7. The function f is defined as follows.

3+x ifx<0
foq) =
X2  ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The é%éiﬂbfthe function fis /-~ <, /}-5;/ EF // /\{} V//j 4/)
(Type your-answer in interval notation.) g

(b) Locate any intercepts. Select the correct choice l)elow and, if necessary, fill in the answer box to complete ygurchoice:,

— e ) o keewaf G L
O A. The ntercept(s) is/are (“ 5/ L)) . (0 ()) A —11 L(,/-.«-),}J— Cluc’i’-_a_ il ,},]//
(Type an ordered pair. Use a comma to separate answers as he ded.)

() B. There are no intercepts.

E (c) Choose the correct graph of f(x) below. v (a/[h

(d) Theg’hgeg the function f is g' — 057 = ) & 2) /L-’ e / [?/)
(Type your-answer in interval notation.) P /
Answers (- 00,00)

A. The intercept(s) is/are (-3,0),(0,0) .
(Type an ordered pair. Use a comma to separate answers as needed.)

7 0f 26 T 1126/2019-42:28 PM
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8. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(a) F(x) =f(x) +4 (b) G(x) =f(x +4) () P(x)= —f(x)

1
(d) H) =f(x +2) -1 () QM) = 5f(x) () g(x) =f(-x)

(9) h(x) = f(2x)

(a) Choose the correct graph of F(x) = f(x) + 4 below.

A O B.

(c) Choose the correct graph of P(x) = - f(x) below.
(d) Choose the correct graph of H(x) = f(x + 2) — 1 below,

=2 /’7 /t/ur/f e “"

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

8 of 26 11/26/2019, 12:28 PM
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(f) Choose the correct graph of g(x) = f( ~ x) below.

"G A T O B. oc.

(g)_ Choose the correct graph of h(x) = f(2x) below.

7 A.

9of 26 11/26/2019, 12:28 PM
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Answers

ID: 1.5.63
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9.
(a) Graph f(x) = |x + 6| - 3 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis 'O'_
that lies below the x-axis. gl
’ (a) Graph f(x). “
(Use the graphing tool provided to graph the function.) "-_

(b) The area of the region bounded by f and the x-axis that
lies below the x-axis is square units. —r—— . r . . . —r— e
(Simplify your answer.) - 5

L]

(]
5
h—
o
N
.
o
o
-
x

Answers

ID: 1.5.81

b

Cayenn

y T ——
—gbs(X—6)——3
| 5T &
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P <f, bofe, €=3
10. Find the z{ds , ifany, of the quaﬁrat:cz funchon l{SH’@ the quadca‘én_fgmula\) What are the x- mtercepts, ifany, ofthegraph.
; of the function? l}l,,, —b Tl ’7(‘( _(“*)'7‘—(/[”_7( "7(6’/’(‘3) —/2 ,t(//'y((.—7g

2¢L = :
f(x) = 8x° + 3 + 12x Mh{fﬁf‘ Z(ﬁ) /(9

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a commato

separate answers as needed.) — ,._( Va i— 9( £

(1 A. The zeros and the x-intercepts are the same. They are

~ The zeros and the x-intercepts are different. The zeros are , the x- |ntercepis Z [/’-’A
1 B.

are

iy €. There is no real zero solution and no x-intercept.
=2 1 5/‘ V3

3443 -3 ‘H/—

4 : = "{_z____.____

4
_w . _"_,_3-;_(1/5_/
A

Answer: A. The zeros and the x-tntercepts are ch same. They are

,\Bﬂf:)’ 3-V3

ID: 2.3.47 ( h = & _~ XF 4

11. F|nd the(ialfgos of the function. What are the x‘mterce.bts of the graph of the function?

) g(x) =X~ X ~ 72 Ak )(“" VX —14L=¢C \\ Ve /
Select the correct choice below and fill in the answer box to complete your choice. X"‘" 72 = W é-‘\

() A. The zeros and the x-intercepts are the same. They are (X‘ 7 Z) = (r—)

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

DB e : /( fd)(/( /5) = X 5-"{(/1!

(Simplify your answer, including any radicals. Use mtegers or fractions\for any numbers in the expression. Use a comma to
separate answers as needed.) /( 78 )( .,__] Z)( ’_[_ S._ 5 y gl )1(

Answer: A. The zeros and the x-intercepts are the same. They are 81
X = LYK 517 z X
LA —ﬁ%ﬂk——— =0
— )¢S x T S/ /T e

(X — ¢7) X — D) - -2
a2k X~ 6y = O oL X—J)-C
x'»(w(y 076y gi X~V */_f/
/1/ 6;/ T R X WA

@ //6(64/

12 af 26 11/26/2019, 12:28 PM

ID: 2.3.75
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e
e

Y—\Wx =72 = O
(69) ~ Ve —72 = =
64 — Y -7 2 =i

5"6 —~72 = &,

—/ 6 79 O

(VT T2
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o
7

-

sy
(&?r%r the quadratic function f(x) = X2+ dx - 12, answer parts (a)

through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

down
up

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractuons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notatlon )

The range of fis
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

14 of 26
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A. The x-intercept(s) is/are -6,2 ; PR

(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-intercept is -12 .(Type an integer or a decimal.)

[-16,00)
[-2,00)
(—o0,-2]

ID: 2.4.37

o I

15 of 26 11/26/2019, 12:28 PM




finalm1314COC025sulllljjRZZ26X-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

13.
For the quadratic function f(x) = - 2 + 2x -1, answer parts
(a) through (c). Verify the results using a graphing utility.

; ; (a) Graph the quadratic function by determining whether its 5__:
graph opens up or down and by finding its vertex, axis of 1
symmetry, y-intercept, and x-intercepts, if any. 4

The graph of f opens (1)

L U LSV -
The vertex of f is . 10 8 B 4 274 2 4 6 8 10
(Type an ordered pair.) °
The axis of symmetry is M
(Type an equation. Simplify your answer) 4}:*
Determine the y-intercept. Select the correct choice below -84
and, if necessary, fill in the answer box to complete your :
choice. A0

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Determine the x-intercept(s). Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

16 of 26 11/26/2019, 12:28 PM
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/ﬂ——écﬁ ————— SO .
" 1 ‘ (5h+— /» ™
(1) ) up. &/J)ZCH/\/ Sty prmiy at M)i e
) down. ’ i '3,5 3 o ) ‘ 7 .
Ay Sta oA 3 2

Answers (1) down. 5{. 4.7[}?_‘, € o(lul) A r%/*[/(( /}727&/
(3-3] | ~ becon ; 4
gk frply ho gt Pecon) b
3 Noambonsses oith & it .

A. The y-intercept is -1 .(Type an integer or a decimal.)

B. There is no x-intercept.

ID: 2.4.43
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14. Determine, Ithout gra;:shu'@;¥ whether the given quadratic function ha a maximum value ‘or a minimum value and then find
the value.}@/ S/ 515 [ }’Jr"/ i€ ,r—’/‘;rp.‘—ﬁ;w’.:/-, C20m& cl Ut_,t_/‘.c\

_a : So AL ; ; T
f(x)= - 3x° +18x -8 Fho il £ hes f.(()(‘ )

= e

A=-% =1
Does the quadratlc funcf;ﬁ f have a m?r;rnurn value or a maximum value? Vn‘ [/)( ’3 ~L | ~f g &/ = 67/

) The functionfhaaamnimum’(aiue Verke (= /_.‘ //f”zr')) P LL
=(5 2&7=0/

() The function f has a maximum value.,
Vs .Lf'; - ( { ‘5’) )Z /f% /
What is this minimum or maximum value? d’(" (_ 273 y = ( 3 / / ﬁ‘
s

V.ﬂ('l};‘_ - ._',_f/ //’
e La ('% ' ﬁ"s’))

(Simplify your answer.)

Answers The function f has a maximum value. ~ 2,
19 Verke :(’}/ -3(> )‘f’fﬂ?/ 7/
cedan =2 L0 )(3) 113 ~F)
v g 3, —3(303,

-3(7) + 14/3)- ~d) J _ - .

15. Find th vemcal) ﬁzontal ant{obhque asymptotes Ifany. for the follomn\g_ﬂ_t_[gn"ﬂunetton)

— R G Wj” { 5k Yl Ol
X+14 : > B ‘

e dh .::@7 ,
rerf . - » Yy )
Select the correct choice below and fillih any answer boxes within your choice. L“{. (_i/( G5 7 Y A/ < e

--"""--.:f

'{Jw ut‘v‘. € 7 i A q?f/u)

(2} A. The vertical asymptote(s) is/are x = . /:, »:/ /76’//"_7‘/».\1 // a5 7 ‘*"}7/"”{(
(Use a comma to separate answers as needed.) X A /’}i/ o34 [ObF 747
) B. There is no vertical asymptote. /<()<) o 'r;;?\r {)( : /“ /\A-"! /V;k,/ L;[%!Mm
Select the correct choice below and fill in any answer boxes within your choice, . . /
) _f — 5 / Vv1,0
_ A. The horizontal asymptote(s) is/are y = . /
(Use a comma to separate answers as needed.) 5 -

() B. There is no harizontal asymptote.

Select the correct choice below and fill in any answer boxes within 'y tfr cth e,
cL

) A. The oblique asymptote(s) is/are y = . \‘“‘n_\
(Use a comma to separate answers as needed.)
{1 B. There is no oblique asymptote.
Answers A. The vertical asymptote(s) is/are x = -14 .(Use a comma to separate answers as needed.) ;
//-- >
A. The horizontal asymptote(s) is/are y = 5  .(Use acomma to separate answers as needed.) =

B. There is no oblique asymptate

Sivee fower (PiAss ) 0P TTN

Seret as //!}4;5,( /aww,/ YL b fo e,
T 7 B e CZ//W

ID: 3.4.45
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16.

~-3

For f(x) = 9x + 3 and g(x) = 6x, find the following composite functions and state the domain of each.

(@) fog (b) gof (c) fof (d) gog
(@) (fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

A. The domain of fo giis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of fo g is all real numbers.

; (b) (g o f)(x) = (Simplify your answer.)

19 of 26

Select the correct choice below and fill in any answer boxes within your choice.

A. The domain of g o fis {x | ¥
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. The domain of fo fis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of f o f is all real numbers.
(d) (gog)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

A. The domainof gogis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

B. The domain of g o g is all real numbers.

Answers 54x +3
B. The domain of f o g is all real numbers.
54x+18
B. The domain of g o fis all real numbers.
81x +30
B. The domain of f o f is all real numbers.
36x

B. The domain of g o g is all real numbers.

11/26/2019, 12:28 PM
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THe function f(x) = 12x + 4 is one-to-one.
(a) Find the inverse of f and check the answer.
(b) Find the domain and the range of fand f~ 1.

(c) Graphf, f~ ! , and y = x on the same coordinate axes.

-1
_7 @f (0=
(Simplify your answer. Use integers or fractions for any
numbers in the expression.)

(b) Find the domain of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

.7 A. The domain is {x|x < b
(B The domain is {x|x # b
2 €. The domain is {x|x2 3
{1 D. The domain is the set of all real

numbers.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

) A. The range is {ylys }
() B. Therangeis {y|y?i‘-L }
) C. Therangeis {ylyz 2
() D. The range is the set of all real numbers.

https://xlitemprod.pearsoncmg.com/api/v 1/print/math

[rrrTT T
20 -16

X7

L
-1 (= ( Z j
Find the domain of f . Select the correct choice below and, if )(”’ /

necessary, fill in the answer box to complete your choice.

A. The domain is {x|x # }
B. The domain is {x|x = }
C. The domain is {x|x$ }
D. The domain is the set of all real

numbers.

Find the range of f ! Select the correct choice below ar&\.ifx_

necessary, fill in the answer box to complete your choice. =
A. Therangeis {y|y# S } “7
B. Therangeis {y|ys }
C. Therangeis {yly > 7 }

D. The range is the set of all real numbers.

the graphing tool to graph the functions.

22 5826 )
’_\\\_____"_,_._._-—-———n-,__ e, b .
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x—4
12

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.

D. The domain is the set of all real numbers.

ID: 4.2.53

18. Solve the equation, S
‘-9 327X+ 44 - ggX (

The solution set is :
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

Answer: 20 A e

ID: 4.3.73 7 —~5 X Z{u’ —6 X |
— S e TR
— ¢y = by —il°
—X —~6x = X —l20 76X

—

26/2019, 12:28 PM
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19. Solve the equation. . {p QJ Z f [Z)(—f}}
—  1092x+3=3 v F,:-; a l(
: sl
Change the given logarithmic equation to exponential form. 2/ $ = Z )(( 3 /’Y’ e
) = ¥ P
(Type an equation. Do not simplify.) 2 ' Z L 4
g - L X-T 5
The solution set is { I8 s N 3
(Simplify your answer. Use a comma to separate answers as needed.) Oi — 3 il Z )< 1
Answers oy 1 3 =23 — = X
: et AS
2 - é -
“F=x N
ID: 4.4.91-Setup & Solve N, )
| e— = — . — e — =
20. Write the expression as a sum and/or difference of logarithms. Express powers as facters. — /
é‘l.[f(e

e i [U ( d Cu)(ll)'”‘(oj(g/
e IR B>

Answer: log x + log (x + 8) - 13 log (x + 5) (,/Uj CAA/); NV LG) (4 ) ;/)

ID: 4.5.51 | i

_ S
/g /f(/-fﬁ) —

7| o) SGE
[&9 (X (x+6)) — Coy () s
Los (ﬁﬂwj}(@f - _g _
Loy + Loylr6)— E fvj ( rs) =
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U,(&Q({ 5) < / Vfwfhﬁgfiégﬁ;/' |
-—) log x+ log (x—3)=1 J( /0 —- X()(”'3) Z/Ujfs ——f/CU) (5 }) - |

Determine the equation to be solved after removing the logarithm. e ik (o / 7 ) — (
/0= X = 34 Los (5 )gwm /

(Type an equation. Do not simplify.) C') = )(’ ¢ — 5 X —f D 6"(_}“) (/(

21. Solve the logarithmic equation.{ ;7

uwﬁ+d&4J
an exact answer. Use a cogrna to separate answers as

<) -t
Y+ 2 N /<‘{f

(_» B. There is no solution. /(‘_(' Z )
s g OA@,(— (Z hfc

Answers x(x - 3) = 10 :

(Simplify your answer. Ty
needed.)

() A. The solution set is { :%

A. The solution set is { 5 }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

o5 (~1)+C
ID: 4.6.17-Setup & Solve 6 l) %ﬂ 4 l )

_ ——j———-n\:— =
22. F|nd the amount that results from the glven investment. %A)
;‘ $500 mvesh@ 6% compounde qu. _rggiy-aﬁer a perlo( f2 yea
_4‘ )—ﬂg(‘ﬂ '
(Round to the nearest cent as neeﬂedT

A:Lwd 06 4(1)/ﬂ (U v ( v
A = 5‘(/6(/:0)/@:;65\1?‘,‘2)_4_
Dar7 4 JWKH° &H%ﬁ;iﬁ =

23. How many years will it take for an initial mvestmen 6f $20, OOdlto gruw@S0,000? )Assume a rate of interest of 7% )
(Ebmpoundad continuously. :

‘h.—

L=

After 2 years, the investment results in $

AL

Answer: 563. 2

It will take about years for the investment to grow to $50,000. /7% (,Zt } / O 7’4
(Round to two decimal places as needed: ) o

Answer: 13.09 \\.ﬁ;/g‘ < () 7 'é
ID: 4.7.41 #SFC/) OOC) . ZU/OO : 6) > 607(—

> 20, 000 = € X
— g% Sl . T
t T

20 U2 &OUUJ a2 il

o ¢o7é - =
/gﬂ(z. o § = /%' ((0507(_5/ /wjffc”)c«n”/
%[ ) = .07é//*’7ﬁ2/ <

.

Ze'S
(”Zag\) :oC)?'é'(/).
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24. Solve the system of equations. If t/e/)j stem has r)o ét/ﬂon say thaysmnt / ¢X - / /
r'd . .
{ 4x -3y=-8 I /i_’i(: -ﬁy} - 27 /6’ gt &

? /9 /9

“ - - gt T - ‘_“\‘\'-
Select the correct choice below ar( 2 necessary, gl in any answer boxes within your cﬁblge @/\)

N | \mp

5x. +y =9

- The solution of the system is x = andy =
(Type an integers or simplified fractions.)

(") B. There are infinitely many solutions. Using ordered paits,| esolutle/bev\ﬁntlen asgz ’ ) m— }.’y i
— '_‘__ '____a/

~C\
N
1
o
NS
i
|
S

{xy)1x= .y any real number}.
(Simplify your answer. Type an expression using y as the variable as needed. ) /C/, — }j

() €. The system is inconsistent.

Answer: A. The solution of the system is x = 1
(Type an integers or simplified fractions.)

25. Solve the given system of equations. If the system has no solution, say that it is mconsnstzﬁ . j 3 /( 6/
__:‘) ' x=-3y+dz= 20 74/0 M 7r /X} V= /
2x+ y+ z= 5 4( EZ@

-2x + 3y -3z= -17 [AH“; “}l ‘3 "'"7

Select the correct choice below and fill in any answer boxes within your choice.

() A. The solution is x = Y= ,and z= (Ty
integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered triplets, they can be expressed a
{xy.2) | x= Y= _, z any real number},
(Simplify your answers. Type expressions usmg z as the variable as needed.)

() €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x y,2) | X= L , Y any real number, z any real number}
(Simplify your -answer. Type an expression using y and z as the variables as needed.)

() D. The system is inconsistent.

Answer: A.
The solution is x = 1 -1 ,and z= . {Type integers or simplified

fractions.) 2/\/0 ) /M(J/;X M@lk/\lfff /( )

" ook (B

11726 9-12:

b
=

g//"g) =
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